1 | 2 | 3 4 5 6 7 8
REVISIONS
ISS | ZONE DESCRIPTION\PER REQUEST\DATE
A5 | B-7 |#8/nST359L-B-CO1M %, G MiEEE2
V | OPEN |HEF LB 1394005 @ (5) (6) (8)
OPEN |¥f{ftfErg .\ BB 4K ; - M8X1.25
CLOSED) & R P 2 7 M6x1.0 4
M5X0.8
7/
7 I A I/i
N oo ‘ \ /
o n
H| =2 il - — © - — - - Ol -
m| OO0 ¢ U \La S
[€e] < '
8| a \
i M 6
N LFLATS 6.5
O_5t8~15 (& 3Hm)
+0.15
0.329 5 4
1 174+0.2 15.5+0.2
i 44.840.3
Notes(f&&E):
1. The plastic seat is separated from the copper screw, and the jacking force is >5kg. £ %8 NS
(R GIRIT 4 BTE H 1 >5kg) II:S}%SE iiﬂwiﬁh 2
2. The plastic nut is separated from the knurled nut, and the jacking force is > 4kg. ,EJE APPSSXX;&&E
(BBIRFERIIZE 2 BEE L 1>4kg.) BT/ A B
3. The contact resistance of the banana head should be less than 3 milliohms, '
angi the tzEananﬁgE head shnohuld}é)e lﬁnserted qb;moothly. List
(A L EEEEBERE<SER BREEEEER) ERP link(R:3%) ERBREGN Part No.(R%) | Plastic base / Nut color | Color ring color
4.The color of the color circle refers to Pantone card: Red/185C, Green/354C. i i i (EERZBRIES) |(BEHE)
(& B G2 EPantone(FB) & 4L /185C, #&/354C) 5116020002 | 5116020021 | 1601160071 | ST359L-C01-RD Red(#L &)
5. Parts 5,6 and 8 don't need to be assembled, and are packaged separately. |5116020001 | 5116020020| 1601160070 | ST359L-CO1-BK Gray(I ) Black(® )
(B#5,6,8 ALK BEFDEIE) 5116020003 | 5116020022 1601160072 | ST359L-C01-GN Green(#x &)
8 [ABEE(HEX. NUT) | A3 $8 (NICKEL) | 1 5116020015 ST359L-B-CO1-BK BI Black(® )
ack(B &)
(M8x1.25) 5116020016 ST359L-B-C01-RD Red(#L &)
7 |$RFF(SCREW POST) | H59-1 8§82 (NICKEL) | 1
6 |AAIEE(HEX. NUT) A3 A EEE (ZINC DIMENSIONS ARE IN MILLIMETERS | APPROVED —-ff DATE ® — —
(M5x0.8) COLORFUL) UNLESS OTHERWISE SPECIFIED @B‘ 2023-11-15 E| 5—%%%@% BE/A E.I
5 |2B(WASHER) A3 8 (NICKEL) | 1 AGEONCES o CHECKED PATE SWRISE  SUN RISE EXACT INDUSTRIAL CO.
4 |EEE(PLASTIC BASE) | PA List 1 UP TO 6 = 0.2 DRAWN = =& OATE
3 BILEE(KNURL NUT)| H59-1 | $&&&(NICKEL) | 1 6740 = £0.4 REM 2023-11-15 | TITLE _
2 | ZBRS PA List 1 1;8—52 = i?'s FILE NO. D:\CAD\ST3I\5116020001 BINDING POST WITH COLOR RING:
(PLAST|C NUT) ABOVE 315 = £1.6 ST359L-C01-BK_CAO001A5 BLACK & GREEN & RED
1 [®B(COLORRING) [ PA List 1 THRONGLE | @ S |ere LNG 5416020001 PART NO. ST359L-C01-BK REV. | A5
NO.| DESCRIPTION MATERIAL FINISH Q'TY| DRAWING NO. SCALE 3/1
1 ! 2 ! 3 ! 4 ! 5 ! 6 ! 7 ! 8




